
VOLKSWAGEN





VOLKSWAGEN

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 3 info@parsrot.com



VOLKSWAGEN

BEETLE 1964-1981

VW-11203
Ball Joint

Front

131405361F

VW-11204
Ball Joint

Front Lower

131405371G

BEETLE 1980-1988

AU-11104
Ball Joint

Front Right Lower
D=Ø17mm

855407366B

AU-16125
Suspension Control Arm and Ball Joint
Assembly

Front Right Lower
Ball Joint D=Ø17mm

893407148C

AU-12101
Tie Rod End

Front
M14x1,5Rht

811419812B

AU-2010
Control Arm Bushing

Inner

8A0407181

AU-16126N
Suspension Control Arm

Front Left Lower

893407147C

AU-16125N
Suspension Control Arm

Front Right Lower

893407148C

AU-16126
Suspension Control Arm and Ball Joint

Assembly

Front Left Lower
Ball Joint D=Ø17mm

893407147C

BEETLE 9C1, 1C1 1998-2010

AU-12501
Tie Rod End

Front Right
M14x1,5Rht

6Q0419812

AU-12502
Tie Rod End

Front Left
M14x1,5Rht

6Q0419811

AU-13503
Axial Joint

Front Inner
Ch.8L-W-050-423->  M14x1,5-L=320mm

1J0422807A

AU-13543
Axial Joint

Front
Ch.No:->8L-W-050-422 
M14x1,5Rht-L=338mm

1J0422821A
* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 4 info@parsrot.com



VOLKSWAGEN

BEETLE 9C1, 1C1 1998-2010

AU-23506
Steering Tie Rod Assembly

Front Right
Ch.8L.W-050-423->

1H0422804D

AU-23548
Steering Tie Rod Assembly

Front Left
Ch.No:->8L-W-050-422

1J0422803C

AU-12508
Tie Rod End

Front Right Outer
RhtCh.>>8L-W-050-422  M14x1,5

1J0422812L

AU-23547
Steering Tie Rod Assembly

Front Right
Ch.No:->8L-W-050-422

1j0422804C

AU-23507
Steering Tie Rod Assembly

Front Left
Ch.8L.W-050-423->

1H0422803D

AU-12509
Tie Rod End

Front Left Outer
RhtCh.>>8L-W-050-422  M14x1,5

1J0422811L

AU-11495
Ball Joint

Front Lower

8N0407365C

AU-11504
Ball Joint

Front Right Lower

1J0407366C

AU-11505
Ball Joint

Front Left Lower

1J0407365B

AU-11505S
Ball Joint

Front Left Lower
Kit

1J0407366C

AU-16525
Suspension Control Arm and Ball Joint

Assembly

Front Right Lower

1J0407151B

AU-16526
Suspension Control Arm and Ball Joint
Assembly

Front Left Lower

1J0407151A

AU-18151
Suspension Control Arm Repair Kit

Front
A-504K/A-505K-V-532-SB12/SB155

AU-16525N
Suspension Control Arm

Front

1J0407151C

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 5 info@parsrot.com



VOLKSWAGEN

BEETLE 9C1, 1C1 1998-2010

VW-14532
Stabilizer Link

Front
Metal  L=105mm

1J0422315G

VW-14531
Stabilizer Link

Front
Plastic  L=105,5mm

1J0411315C

AU-14586
Stabilizer Link

Rear
L=175mm

1J0505466B

AU-14500
Stabilizer Link

Front Right
4Motion  L=336mm

1J0411316D

VW-18700
Suspension Control Arm Repair Kit

Front
Ch.8L-W-050-423-->

VW-14533
Stabilizer Link

Front Right
Only:GolfIVCh.No:->OPT858  L=340mm

68510018

VW-14534
Stabilizer Link

Front Left
Only:GolfIVCh.No:->OPT858  L=340mm

68510017

VW-14537
Stabilizer Link

Front
PlasticOnly:GOLFIV  L=105mm

1J0411315K

BEETLE A5 2011 after

VW-16238
Suspension Control Arm and Ball Joint

Assembly

Front Right Lower

561407152A

VW-16239
Suspension Control Arm and Ball Joint
Assembly

Front Left Lower

561407151A

VW-16238N
Suspension Control Arm

Front Right Lower

561407152C

VW-16239N
Suspension Control Arm

Front Left Lower

561407151C

VW-20872
Control Arm Bushing

Front Outer

561407152A

VW-13233
Axial Joint

Front Inner

561423810

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 6 info@parsrot.com



VOLKSWAGEN

BEETLE A5 2011 after

SK-19457
Lateral Arm

Rear Lower
L=298mm

1K0501529J

VW-19582
Lateral Arm

Rear Right Front

1K0505224K

VW-19583
Lateral Arm

Rear Left Front

1K0505223K

VW-12551
Tie Rod End

Front Right
M16x1,5Rht

1K0423812K

VW-12552
Tie Rod End

Front Left
M16x1,5Rht

1K0423811K

VW-11555
Ball Joint

Front Right Lower

1K0407366E

VW-11556
Ball Joint

Front Left Lower

1K0407365E

VW-14557
Stabilizer Link

Front
L=335mm

1K0411315J

VW-14558
Stabilizer Link

Rear
L=95,5mm

1K0505465K

VW-20558K
Suspension Stabilizer Bar Link Kit

Rear
L=95,5mm

1K0505465KS1

CADDY III 1994-2001

VW-23332333
Steering Tie Rod Assembly

Front Left
(WITHPS)  M14x1,5Rht

6K0422803D

VW-23331333
Steering Tie Rod Assembly

Front Right
(WITHPS)  M14x1,5Rht

6K0422804D

VW-13333
Axial Joint

Front
(WITHPS)  M14x1,5Rht

6K0422804D

VW-12332
Tie Rod End

Front Left
(WITHPS)  M14x1,5Rht

3A0422811

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 7 info@parsrot.com



VOLKSWAGEN

CADDY III 1994-2001

VW-12331
Tie Rod End

Front Right
(WITHPS)  M14x1,5Rht

3A0422812

CADDY Typ 2K 2004-2015

VW-16638
Suspension Control Arm and Ball Joint

Assembly

Front Right Lower
Mod:03/2011-04/2015

1K0407152BG

VW-16639
Suspension Control Arm and Ball Joint
Assembly

Front Left Lower
Mod:03/2011-04/2015

1K0407151BG

VW-16638N
Suspension Control Arm

Front Right Lower
Mod:03/2011-04/2015

1K0407152BG

VW-16639N
Suspension Control Arm

Front Left Lower
Mod:03/2011-04/2015

1K0407151BG

VW-14567
Stabilizer Link

Rear
L=241mm

2K0505465C

VW-14557
Stabilizer Link

Front
L=335mm

1K0411315J

AU-18152
Suspension Control Arm Repair Kit

Front
V-555/V-556-V-557-SB487/SB488/SB48

9

VW-16561N
Suspension Control Arm

Front Right Lower
Only:Diesel

1K0407152M

VW-16562N
Suspension Control Arm

Front Left Lower
Only:Diesel

1K0407151M

VW-16560N
Suspension Control Arm

Front Left Lower
Only:Petrol

1K0407151Q

VW-16559N
Suspension Control Arm

Front Right Lower
Only:Petrol

1K0407152Q

VW-16562
Suspension Control Arm and Ball Joint
Assembly

Front Left Lower
Only:Diesel

1K0407151AC

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 8 info@parsrot.com



VOLKSWAGEN

CADDY Typ 2K 2004-2015

VW-11556
Ball Joint

Front Left Lower

1K0407365E

VW-16559
Suspension Control Arm and Ball Joint
Assembly

Front Right Lower
Only:Petrol

1K0407152Q

VW-16561
Suspension Control Arm and Ball Joint

Assembly

Front Right Lower
Only:Diesel

1K0407152AC

VW-16560
Suspension Control Arm and Ball Joint
Assembly

Front Left Lower
Only:Petrol

1K0407151Q

VW-11555
Ball Joint

Front Right Lower

1K0407366E

VW-12552
Tie Rod End

Front Left
M16x1,5Rht

1K0423811K

VW-12551
Tie Rod End

Front Right
M16x1,5Rht

1K0423812K

AU-20487
Control Arm Bushing

Center

5Q0407182

AU-20488
Control Arm Bushing

Right

1K0199232H

AU-20489
Control Arm Bushing

Left

1K0199231H

CORRADO 531 1987-1995

VW-16536N
Suspension Control Arm

Front Left Lower
Only:GTI16V

1H0407151A

VW-16535N
Suspension Control Arm

Front Right Lower
Only:GTI16V

1H0407152

VW-16536
Suspension Control Arm and Ball Joint

Assembly

Front Left Lower
Only:GTI16V

1H0407151A

VW-16535
Suspension Control Arm and Ball Joint
Assembly

Front Right Lower
Only:GTI16V

1H0407152

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 9 info@parsrot.com



VOLKSWAGEN

CORRADO 531 1987-1995

VW-11530K
Suspension Ball Joint Kit

Front
(Withinforcement)  Only:GTI D=Ø19mm

1H0407365

VW-11530
Ball Joint

Front
(Withinforcement)IBIZA 
D=Ø19mmOnly:GTI

1H0407365

VW-23416
Steering Tie Rod Assembly

Front Left
TRWPowersteeringIBIZA

191422803A

VW-23415
Steering Tie Rod Assembly

Front Right
TRWPowersteeringIBIZA

191422804A

VW-13406
Axial Joint

Front
PowerSteering  M14x1,5Rht-L=340mm

191422721

VW-12401
Tie Rod End

Front Right
M14x1,5Rht

3A0422812

VW-12402
Tie Rod End

Front Left Outer
M14x1,5Rht

3A0422811

CRAFTER 2006-2017

DO-20690
Control Arm Bushing

Front Right Lower Inner

9063304107

MB-14735
Stabilizer Link

Rear

9063201489

MB-18734
Suspension Control Arm Repair Kit

Front
M-731/M-733/M-736-M-737/M-738/M-73

9

MB-14736
Stabilizer Link

Front Right

9063201889

MB-14737
Stabilizer Link

Front Left

9063201789

MB-12731
Tie Rod End

Front

9064600048

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 10 info@parsrot.com



VOLKSWAGEN

CRAFTER 2006-2017

MB-11732
Ball Joint

Front Lower

9063330227

MB-16738
Suspension Control Arm and Ball Joint
Assembly

Front Right Lower

9063304107

MB-16739
Suspension Control Arm and Ball Joint

Assembly

Front Left Lower

9063304007

MB-13733
Axial Joint

Front

9064600055

MB-23733731
Steering Tie Rod Assembly

Front

9064600055

CRAFTER III 2017 after

VW-13433
Axial Joint

Front

2N0423810

VW-12431
Tie Rod End

Front Right

2N0423812

VW-12432
Tie Rod End

Front Left

2N0423811

VW-14436
Stabilizer Link

Front Right

2N0411318C

VW-14437
Stabilizer Link

Front Left

2N0411317C

VW-16434
Ball Joint

Front Lower

2N0407361A

EOS 2006-2016

VW-12551
Tie Rod End

Front Right
M16x1,5Rht

1K0423812K

VW-13553
Axial Joint

Front Inner
M16x1,5-L=310mm

1K0423810A

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 11 info@parsrot.com



VOLKSWAGEN

EOS 2006-2016

VW-12552
Tie Rod End

Front Left
M16x1,5Rht

1K0423811K

AU-19558
Lateral Arm

Rear Upper

1K0505323N

VW-11555
Ball Joint

Front Right Lower

1K0407366E

VW-11556
Ball Joint

Front Left Lower

1K0407365E

VW-16559N
Suspension Control Arm

Front Right Lower
Only:Petrol

1K0407152Q

VW-16560N
Suspension Control Arm

Front Left Lower
Only:Petrol

1K0407151Q

AU-18152
Suspension Control Arm Repair Kit

Front
V-555/V-556-V-557-SB487/SB488/SB48

9

VW-14557
Stabilizer Link

Front
L=335mm

1K0411315J

VW-20558K
Suspension Stabilizer Bar Link Kit

Rear
L=95,5mm

1K0505465KS1

VW-14558
Stabilizer Link

Rear
L=95,5mm

1K0505465K

AU-20489
Control Arm Bushing

Left

1K0199231H

AU-20488
Control Arm Bushing

Right

1K0199232H

AU-20487
Control Arm Bushing

Center

5Q0407182

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 12 info@parsrot.com



VOLKSWAGEN

EUROVAN T4 1990-2003

VW-20223
Control Arm Bushing

Upper Center

7D0407183

VW-20182
Control Arm Bushing

Front Inner

701407183

VW-20181
Control Arm Bushing

Rear

7D0407140

VW-20175
Control Arm Bushing

Center

701407077A

VW-18600
Suspension Control Arm Repair Kit

Front
Ch.70-T-20000-->

VW-14710
Stabilizer Link

Front
L=110mm

7D0411049

VW-14720
Stabilizer Link

Front
L=108mm

701411049B

VW-12712
Tie Rod End

Front Left Outer
Ch.No:70-M-096449-> 
M16x1,5Rht-D=Ø14,7mm

701419811B

VW-12721
Tie Rod End

Front Right Outer
Ch.No:70-T-200001-> 

M16x1,5Rht-D=Ø14,7mm

701419812D

VW-12722
Tie Rod End

Front Left Outer
Ch.No:70-T-200001-> 
M16x1,5Rht-D=Ø14,7mm

701419811E

VW-11704
Ball Joint

Front

701407187B

VW-11705
Ball Joint

Front Lower

701407361B

VW-11725
Ball Joint

Front Lower

7D0407361

VW-16503
Suspension Control Arm

Front Right
1990-1996

701407152A

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 13 info@parsrot.com



VOLKSWAGEN

EUROVAN T4 1990-2003

VW-16504
Suspension Control Arm

Front Left
1990-1996

701407151A

VW-13703
Axial Joint

Front Inner
M16x1,5-L=294mm

701419810

VW-13706
Axial Joint

Front Inner
M16x1,5Rht-L=294.7mm

702419803D

VW-23701703
Steering Tie Rod Assembly

Front Right
Ch.No:->70-M-096448

701419812

VW-23701706
Steering Tie Rod Assembly

Front Right
Ch.No:->70-M-096448

701419804A

VW-23702703
Steering Tie Rod Assembly

Front Left
Ch.No:->70-M-096448

701419803C

VW-23702706
Steering Tie Rod Assembly

Front Left
Ch.No:->70-M-096448

701419803A

VW-23711706
Steering Tie Rod Assembly

Front Right
Ch.No:70-M-096449->

701419804C

VW-23712706
Steering Tie Rod Assembly

Front Left
Ch.No:70-M-096449->

701419803C

VW-23721703
Steering Tie Rod Assembly

Front Right

701419804E

VW-23721706
Steering Tie Rod Assembly

Front Right
Ch.No:70-T-200001->

701419804D

VW-23722703
Steering Tie Rod Assembly

Front Left

701419803E

VW-23722706
Steering Tie Rod Assembly

Front Left
Ch.No:70-T-200001->

701419803D

VW-12701
Tie Rod End

Front Right
Ch.No:->70-M-096448 
M16x1,5Rht-D=Ø12,8mm

701419812

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 14 info@parsrot.com



VOLKSWAGEN

EUROVAN T4 1990-2003

VW-12702
Tie Rod End

Front Left Outer
Ch.No:->70-M-096448 

M16x1,5Rht-D=Ø12,8mm

701419811A

VW-12711
Tie Rod End

Front Right Outer
Ch.No:70-M-096449-> 
M16x1,5Rht-D=Ø14,7mm

701419812A

GOL 1995-2001

VW-12351
Tie Rod End

Front
M14x1,5Rht

3074198121

VW-12361
Tie Rod End

Front
M14.1,5

VW-11355
Ball Joint

Front Right Lower
D=Ø15mm

3054073665

VW-11356
Ball Joint

Front Left Lower
D=Ø15mm

3054073655

VW-11365
Ball Joint

Right Lower
D=Ø15mm

VW-11366
Ball Joint

Front Left
D=Ø15mm

GOL 2002-2010

VW-19215
Lateral Arm

Rear Upper Front

7L0505323A

VW-14216
Stabilizer Link

Rear Right
L=201mm

95533307010

VW-14217
Stabilizer Link

Rear Left
L=201mm

95533307011

VW-16219
Suspension Control Arm and Ball Joint
Assembly

Front Left Lower

95534101731

VW-16218
Suspension Control Arm and Ball Joint

Assembly

Front Right Lower

95534101832

VW-23211213
Steering Tie Rod Assembly

Front Right

7L0422804C

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 15 info@parsrot.com



VOLKSWAGEN

GOL 2002-2010

VW-13213
Axial Joint

Front
M16x1,5Rht-L=287,5mm

7L0422821

AU-19707
Lateral Arm

Rear Lower

7L8501529A

VW-16210
Suspension Control Arm and Ball Joint

Assembly

Front Upper
Alum.

95534102701

VW-23212213
Steering Tie Rod Assembly

Front Left

7L0422803C

VW-12211
Tie Rod End

Front Right
M16x1,5Rht

7L0422818D

AU-20285
Control Arm Bushing

Lower

95534158810

AU-20286
Control Arm Bushing

Rear

95534124204

AU-20316
Control Arm Bushing

Center

7L0412333A

GOLF MK1/A1 1974-1984

PO-20163
Control Arm Bushing

Front Outer

171407181A

PO-20164
Control Arm Bushing

Center

171407182E

VW-20165
Control Arm Bushing

Center

171511536

VW-16325N
Suspension Control Arm

Front

171407153D

VW-16326
Suspension Control Arm and Ball Joint

Assembly

Front Left Lower
Ball Joint D=Ø17mm

171407153D

VW-16325
Suspension Control Arm and Ball Joint
Assembly

Front Right Lower
Ball Joint D=Ø17mm

171407153D

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 16 info@parsrot.com



VOLKSWAGEN

GOLF MK1/A1 1974-1984

VW-11304
Ball Joint

Front

171407365G

VW-12301
Tie Rod End

Front
M14x1,5Rht

251419811

VW-13302
Axial Joint

Front
M14x1,5Rht-L=343mm

171419821A

VW-23301302
Steering Tie Rod Assembly

Front

171419804

VW-11303
Ball Joint

Front Lower
D=Ø15mm

171407365D

GOLF MK2/A2 1983-1992

VW-11403
Ball Joint

Front
D=Ø17mm

191407365B

VW-14420
Stabilizer Link

Front
withbushing  L=77mm

191411315B

VW-11403K
Suspension Ball Joint Kit

Front
D=Ø17mm

191407365B

VW-16425
Suspension Control Arm and Ball Joint
Assembly

Front Right Lower
Ball Joint D=Ø17mm

191407151A

VW-16426
Suspension Control Arm and Ball Joint

Assembly

Front Left Lower
Ball Joint D=Ø17mm

192407151A

VW-13406
Axial Joint

Front
PowerSteering  M14x1,5Rht-L=340mm

191422721

VW-23415
Steering Tie Rod Assembly

Front Right
TRWPowersteeringIBIZA

191422804A

VW-23416
Steering Tie Rod Assembly

Front Left
TRWPowersteeringIBIZA

191422803A

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 17 info@parsrot.com



VOLKSWAGEN

GOLF MK2/A2 1983-1992

VW-23417
Steering Tie Rod Assembly

Front Right
ManuelSteering-IBIZA

191419804A

VW-23418
Steering Tie Rod Assembly

Front Left
ManuelSteering-IBIZA

191419803A

VW-11404
Ball Joint

Front
IBIZA

357407365A

VW-16427
Suspension Control Arm and Ball Joint
Assembly

Front Right Lower
IBIZA  Ball Joint D=Ø19mm

191407152B

VW-11404K
Suspension Ball Joint Kit

Front
IBIZA

357407365S1

VW-16428
Suspension Control Arm and Ball Joint
Assembly

Front Left Lower
IBIZA  Ball Joint D=Ø19mm

191407151B

VW-16425N
Suspension Control Arm

Front
IBIZA

191407151A

VW-16428N
Suspension Control Arm

Front Left Lower

191407151B

VW-16427N
Suspension Control Arm

Front Right Lower

191407152B

VW-14410
Stabilizer Link

Front
IBIZA  L=75mm-D=Ø16,5mm

191411315

VW-12402
Tie Rod End

Front Left Outer
M14x1,5Rht

3A0422811

VW-12401
Tie Rod End

Front Right
M14x1,5Rht

3A0422812

VW-13405
Axial Joint

Front
ManualSteeringIBIZA 

M14x1,5Rht-L=372mm

191419807A

SE-20156A
Control Arm Bushing

Front

357407181

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 18 info@parsrot.com



VOLKSWAGEN

GOLF MK2/A2 1983-1992

SE-20156
Control Arm Bushing

Front Outer

357407181

SE-20155
Control Arm Bushing

Center

357407182F

VW-20203
Control Arm Bushing

Front Outer

191407181B

AU-20328
Control Arm Bushing

Front Right Lower Inner

4A0399413A

SE-20438
Control Arm Bushing

Front Inner

191407181D

GOLF MK3/A3 1991-1998

SE-20438
Control Arm Bushing

Front Inner

191407181D

AU-20328
Control Arm Bushing

Front Right Lower Inner

4A0399413A

SE-20204
Control Arm Bushing

Front Outer

191407181D

SE-20155
Control Arm Bushing

Center

357407182F

SE-20156A
Control Arm Bushing

Front

357407181

VW-12401
Tie Rod End

Front Right
M14x1,5Rht

3A0422812

VW-12402
Tie Rod End

Front Left Outer
M14x1,5Rht

3A0422811

VW-14510
Stabilizer Link

Front
IBIZA  L=69.5mm-D=Ø17.5mm

191411315B

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 19 info@parsrot.com



VOLKSWAGEN

GOLF MK3/A3 1991-1998

VW-14907
Stabilizer Link

Front
L=78mm-D=Ø18mm

6K0411315

VW-16535N
Suspension Control Arm

Front Right Lower
Only:GTI16V

1H0407152

VW-16536N
Suspension Control Arm

Front Left Lower
Only:GTI16V

1H0407151A

VW-16536
Suspension Control Arm and Ball Joint
Assembly

Front Left Lower
Only:GTI16V

1H0407151A

VW-16535
Suspension Control Arm and Ball Joint

Assembly

Front Right Lower
Only:GTI16V

1H0407152

VW-11404K
Suspension Ball Joint Kit

Front
IBIZA

357407365S1

VW-11404
Ball Joint

Front
IBIZA

357407365A

VW-11530
Ball Joint

Front
(Withinforcement)IBIZA 
D=Ø19mmOnly:GTI

1H0407365

VW-13505
Axial Joint

Front
ManualSteering  M14x1,5Rht-L=397mm

1H0419821

VW-13506
Axial Joint

Front
PowerSteering  M14x1.5Rht-L=370mm

1H0422821

VW-23515
Steering Tie Rod Assembly

Front Right
PowerSteering

1H0422804

VW-23516
Steering Tie Rod Assembly

Front Left
PowerSteering

1H0422803

VW-23517
Steering Tie Rod Assembly

Front Right
ManualSteering

1H0419804

VW-14511
Stabilizer Link

Front
Only:GTI  L=51mm

535411315

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 20 info@parsrot.com



VOLKSWAGEN

GOLF MK3/A3 1991-1998

VW-23518
Steering Tie Rod Assembly

Front Left
ManualSteering

357419803A

VW-16525
Suspension Control Arm and Ball Joint
Assembly

Front Right Lower

1H0407152

VW-16526
Suspension Control Arm and Ball Joint

Assembly

Front Left Lower

1H0407151

VW-16525N
Suspension Control Arm

Front

1H0407151

GOLF MK4/A4 1998-2003

VW-14537
Stabilizer Link

Front
PlasticOnly:GOLFIV  L=105mm

1J0411315K

VW-14534
Stabilizer Link

Front Left
Only:GolfIVCh.No:->OPT858  L=340mm

68510017

VW-14533
Stabilizer Link

Front Right
Only:GolfIVCh.No:->OPT858  L=340mm

68510018

VW-18700
Suspension Control Arm Repair Kit

Front
Ch.8L-W-050-423-->

SE-20155
Control Arm Bushing

Center

357407182F

AU-13594
Axial Joint

Front

8N0422804D

AU-2012
Control Arm Bushing

Front Right Lower Outer

1J0407181

AU-14500
Stabilizer Link

Front Right
4Motion  L=336mm

1J0411316D

AU-14586
Stabilizer Link

Rear
L=175mm

1J0505466B

VW-14531
Stabilizer Link

Front
Plastic  L=105,5mm

1J0411315C

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 21 info@parsrot.com



VOLKSWAGEN

GOLF MK4/A4 1998-2003

VW-14532
Stabilizer Link

Front
Metal  L=105mm

1J0422315G

AU-16525N
Suspension Control Arm

Front

1J0407151C

AU-18151
Suspension Control Arm Repair Kit

Front
A-504K/A-505K-V-532-SB12/SB155

VW-18500
Suspension Control Arm Repair Kit

Front ve Rear

AU-16526
Suspension Control Arm and Ball Joint

Assembly

Front Left Lower

1J0407151A

AU-16525
Suspension Control Arm and Ball Joint
Assembly

Front Right Lower

1J0407151B

AU-11505S
Ball Joint

Front Left Lower
Kit

1J0407366C

AU-11505
Ball Joint

Front Left Lower

1J0407365B

AU-11504
Ball Joint

Front Right Lower

1J0407366C

AU-11495
Ball Joint

Front Lower

8N0407365C

AU-12509
Tie Rod End

Front Left Outer
RhtCh.>>8L-W-050-422  M14x1,5

1J0422811L

AU-23507
Steering Tie Rod Assembly

Front Left
Ch.8L.W-050-423->

1H0422803D

AU-23547
Steering Tie Rod Assembly

Front Right
Ch.No:->8L-W-050-422

1j0422804C

AU-12508
Tie Rod End

Front Right Outer
RhtCh.>>8L-W-050-422  M14x1,5

1J0422812L

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 22 info@parsrot.com



VOLKSWAGEN

GOLF MK4/A4 1998-2003

AU-23548
Steering Tie Rod Assembly

Front Left
Ch.No:->8L-W-050-422

1J0422803C

AU-23506
Steering Tie Rod Assembly

Front Right
Ch.8L.W-050-423->

1H0422804D

AU-13543
Axial Joint

Front
Ch.No:->8L-W-050-422 
M14x1,5Rht-L=338mm

1J0422821A

AU-13503
Axial Joint

Front Inner
Ch.8L-W-050-423->  M14x1,5-L=320mm

1J0422807A

AU-19498
Lateral Arm

Rear

1J0505323H

AU-12502
Tie Rod End

Front Left
M14x1,5Rht

6Q0419811

AU-12501
Tie Rod End

Front Right
M14x1,5Rht

6Q0419812

AU-20328
Control Arm Bushing

Front Right Lower Inner

4A0399413A

GOLF MK5/A5 2003-2009

AU-20487
Control Arm Bushing

Center

5Q0407182

AU-20488
Control Arm Bushing

Right

1K0199232H

AU-20489
Control Arm Bushing

Left

1K0199231H

SE-20522
Control Arm Bushing

Inner

6Q0407183A

AU-19558
Lateral Arm

Rear Upper

1K0505323N

SE-19108
Lateral Arm

Rear Right Lower
L=298mm

1K0501530C

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 23 info@parsrot.com



VOLKSWAGEN

GOLF MK5/A5 2003-2009

VW-12552
Tie Rod End

Front Left
M16x1,5Rht

1K0423811K

VW-13553
Axial Joint

Front Inner
M16x1,5-L=310mm

1K0423810A

VW-12551
Tie Rod End

Front Right
M16x1,5Rht

1K0423812K

VW-14557
Stabilizer Link

Front
L=335mm

1K0411315J

AU-18152
Suspension Control Arm Repair Kit

Front
V-555/V-556-V-557-SB487/SB488/SB48

9

VW-16561N
Suspension Control Arm

Front Right Lower
Only:Diesel

1K0407152M

VW-16560N
Suspension Control Arm

Front Left Lower
Only:Petrol

1K0407151Q

VW-16562N
Suspension Control Arm

Front Left Lower
Only:Diesel

1K0407151M

VW-16559N
Suspension Control Arm

Front Right Lower
Only:Petrol

1K0407152Q

VW-16562
Suspension Control Arm and Ball Joint
Assembly

Front Left Lower
Only:Diesel

1K0407151AC

VW-11556
Ball Joint

Front Left Lower

1K0407365E

VW-16559
Suspension Control Arm and Ball Joint
Assembly

Front Right Lower
Only:Petrol

1K0407152Q

VW-16560
Suspension Control Arm and Ball Joint

Assembly

Front Left Lower
Only:Petrol

1K0407151Q

VW-11555
Ball Joint

Front Right Lower

1K0407366E

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 24 info@parsrot.com



VOLKSWAGEN

GOLF MK5/A5 2003-2009

AU-23591594
Steering Tie Rod Assembly

Front Right

8N0422804D

AU-23592594
Steering Tie Rod Assembly

Front Left

8N0422803D

VW-14558
Stabilizer Link

Rear
L=95,5mm

1K0505465K

AU-18552
Suspension Control Arm Repair Kit

Rear
SE-108-SE-109/A-5582AD/V-5582AD

VW-20558K
Suspension Stabilizer Bar Link Kit

Rear
L=95,5mm

1K0505465KS1

VW-14567
Stabilizer Link

Rear
L=241mm

2K0505465C

GOLF MK6/A6 2009-2012

SK-16458
Suspension Control Arm and Ball Joint

Assembly

Front Right Lower

1K0407152BC

SK-16459
Suspension Control Arm and Ball Joint
Assembly

Front Left Lower

1K0407151BC

SK-16459N
Suspension Control Arm

Front Left Lower

1K0407151H

VW-20558K
Suspension Stabilizer Bar Link Kit

Rear
L=95,5mm

1K0505465KS1

VW-14558
Stabilizer Link

Rear
L=95,5mm

1K0505465K

VW-11555
Ball Joint

Front Right Lower

1K0407366E

VW-11556
Ball Joint

Front Left Lower

1K0407365E

AU-18152
Suspension Control Arm Repair Kit

Front
V-555/V-556-V-557-SB487/SB488/SB48
9

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 25 info@parsrot.com



VOLKSWAGEN

GOLF MK6/A6 2009-2012

VW-14557
Stabilizer Link

Front
L=335mm

1K0411315J

VW-12551
Tie Rod End

Front Right
M16x1,5Rht

1K0423812K

VW-13553
Axial Joint

Front Inner
M16x1,5-L=310mm

1K0423810A

VW-12552
Tie Rod End

Front Left
M16x1,5Rht

1K0423811K

SK-19457
Lateral Arm

Rear Lower
L=298mm

1K0501529J

VW-19228
Lateral Arm

Rear Lower

1K0505311AB

SE-20522
Control Arm Bushing

Inner

6Q0407183A

AU-20489
Control Arm Bushing

Left

1K0199231H

AU-20488
Control Arm Bushing

Right

1K0199232H

AU-20487
Control Arm Bushing

Center

5Q0407182

GOLF MK7/MQB 2012 after

AU-20487
Control Arm Bushing

Center

5Q0407182

VW-19228
Lateral Arm

Rear Lower

1K0505311AB

AU-19487
Lateral Arm

Rear Lower

5Q0505311C

AU-19486
Lateral Arm

Rear Left Upper

5Q0505223D

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 26 info@parsrot.com



VOLKSWAGEN

GOLF MK7/MQB 2012 after

AU-19485
Lateral Arm

Rear Right Upper

5Q0505224D

VW-19582
Lateral Arm

Rear Right Front

1K0505224K

VW-19587
Lateral Arm

Rear Upper

5Q0505323D

VW-12552
Tie Rod End

Front Left
M16x1,5Rht

1K0423811K

VW-13553
Axial Joint

Front Inner
M16x1,5-L=310mm

1K0423810A

VW-19583
Lateral Arm

Rear Left Front

1K0505223K

VW-12551
Tie Rod End

Front Right
M16x1,5Rht

1K0423812K

VW-14557
Stabilizer Link

Front
L=335mm

1K0411315J

VW-14580
Stabilizer Link

Rear
L=70mm

5Q0505465A

VW-19586
Lateral Arm

Rear Lower Front

5Q0501529C

VW-16588N
Suspension Control Arm

Front Right Lower

5Q0407154E

VW-16589N
Suspension Control Arm

Front Left Lower

5Q0407153E

VW-11584
Ball Joint

Front Right Lower

3C0407366B

VW-11585
Ball Joint

Front Left Lower

3C0407365B

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 27 info@parsrot.com



VOLKSWAGEN

GOLF MK7/MQB 2012 after

VW-16588
Suspension Control Arm and Ball Joint

Assembly

Front Right Lower

5Q0407152J

VW-16589
Suspension Control Arm and Ball Joint
Assembly

Front Left Lower

5Q0407151J

GTI MK5/A5 2006-2009

VW-14567
Stabilizer Link

Rear
L=241mm

2K0505465C

VW-14558
Stabilizer Link

Rear
L=95,5mm

1K0505465K

VW-14557
Stabilizer Link

Front
L=335mm

1K0411315J

AU-18152
Suspension Control Arm Repair Kit

Front
V-555/V-556-V-557-SB487/SB488/SB48
9

VW-16561N
Suspension Control Arm

Front Right Lower
Only:Diesel

1K0407152M

VW-16562
Suspension Control Arm and Ball Joint
Assembly

Front Left Lower
Only:Diesel

1K0407151AC

VW-16559N
Suspension Control Arm

Front Right Lower
Only:Petrol

1K0407152Q

VW-16562N
Suspension Control Arm

Front Left Lower
Only:Diesel

1K0407151M

VW-16560N
Suspension Control Arm

Front Left Lower
Only:Petrol

1K0407151Q

VW-11556
Ball Joint

Front Left Lower

1K0407365E

VW-16559
Suspension Control Arm and Ball Joint

Assembly

Front Right Lower
Only:Petrol

1K0407152Q

VW-16560
Suspension Control Arm and Ball Joint
Assembly

Front Left Lower
Only:Petrol

1K0407151Q

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 28 info@parsrot.com



VOLKSWAGEN

GTI MK5/A5 2006-2009

VW-11555
Ball Joint

Front Right Lower

1K0407366E

VW-12551
Tie Rod End

Front Right
M16x1,5Rht

1K0423812K

VW-13553
Axial Joint

Front Inner
M16x1,5-L=310mm

1K0423810A

VW-12552
Tie Rod End

Front Left
M16x1,5Rht

1K0423811K

SK-19457
Lateral Arm

Rear Lower
L=298mm

1K0501529J

SE-19108
Lateral Arm

Rear Right Lower
L=298mm

1K0501530C

AU-19558
Lateral Arm

Rear Upper

1K0505323N

JETTA III (1K2) 2005-2010

VW-20558K
Suspension Stabilizer Bar Link Kit

Rear
L=95,5mm

1K0505465KS1

VW-18540
Suspension Control Arm Repair Kit

Front
V-549-V-550/V-551-V-552/V-5532AD/V-
5572AD

AU-20487
Control Arm Bushing

Center

5Q0407182

AU-20494
Control Arm Bushing

Front Left Inner

3C0199231D

SE-20522
Control Arm Bushing

Inner

6Q0407183A

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 29 info@parsrot.com



VOLKSWAGEN

JETTA IV(162) 2010-2017

AU-20487
Control Arm Bushing

Center

5Q0407182

VW-20558K
Suspension Stabilizer Bar Link Kit

Rear
L=95,5mm

1K0505465KS1

VW-14558
Stabilizer Link

Rear
L=95,5mm

1K0505465K

VW-14557
Stabilizer Link

Front
L=335mm

1K0411315J

AU-19558
Lateral Arm

Rear Upper

1K0505323N

SK-19457
Lateral Arm

Rear Lower
L=298mm

1K0501529J

VW-12551
Tie Rod End

Front Right
M16x1,5Rht

1K0423812K

VW-13553
Axial Joint

Front Inner
M16x1,5-L=310mm

1K0423810A

VW-11555
Ball Joint

Front Right Lower

1K0407366E

VW-11556
Ball Joint

Front Left Lower

1K0407365E

VW-12552
Tie Rod End

Front Left
M16x1,5Rht

1K0423811K

VW-19228
Lateral Arm

Rear Lower

1K0505311AB

VW-16618
Suspension Control Arm and Ball Joint

Assembly

Front Right Lower

5C0407152B

VW-16619
Suspension Control Arm and Ball Joint
Assembly

Front Left Lower

1K0407151B

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 30 info@parsrot.com



VOLKSWAGEN

JETTA IV(162) 2010-2017

VW-16618N
Suspension Control Arm

Front Right Lower

5C0407152B

VW-16619N
Suspension Control Arm

Front Left Lower

5C0407151B

JETTA MK1/A1 1974-1984

VW-11303
Ball Joint

Front Lower
D=Ø15mm

171407365D

VW-23301302
Steering Tie Rod Assembly

Front

171419804

VW-13302
Axial Joint

Front
M14x1,5Rht-L=343mm

171419821A

VW-12301
Tie Rod End

Front
M14x1,5Rht

251419811

VW-11304
Ball Joint

Front

171407365G

VW-16325
Suspension Control Arm and Ball Joint
Assembly

Front Right Lower
Ball Joint D=Ø17mm

171407153D

VW-16326
Suspension Control Arm and Ball Joint

Assembly

Front Left Lower
Ball Joint D=Ø17mm

171407153D

VW-16325N
Suspension Control Arm

Front

171407153D

JETTA MK2/A2 1983-1992

VW-12402
Tie Rod End

Front Left Outer
M14x1,5Rht

3A0422811

VW-12401
Tie Rod End

Front Right
M14x1,5Rht

3A0422812

VW-13405
Axial Joint

Front
ManualSteeringIBIZA 

M14x1,5Rht-L=372mm

191419807A

VW-23418
Steering Tie Rod Assembly

Front Left
ManuelSteering-IBIZA

191419803A

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 31 info@parsrot.com



VOLKSWAGEN

JETTA MK2/A2 1983-1992

VW-11404
Ball Joint

Front
IBIZA

357407365A

VW-23417
Steering Tie Rod Assembly

Front Right
ManuelSteering-IBIZA

191419804A

VW-23416
Steering Tie Rod Assembly

Front Left
TRWPowersteeringIBIZA

191422803A

VW-23415
Steering Tie Rod Assembly

Front Right
TRWPowersteeringIBIZA

191422804A

VW-13406
Axial Joint

Front
PowerSteering  M14x1,5Rht-L=340mm

191422721

VW-11404K
Suspension Ball Joint Kit

Front
IBIZA

357407365S1

VW-16427
Suspension Control Arm and Ball Joint

Assembly

Front Right Lower
IBIZA  Ball Joint D=Ø19mm

191407152B

VW-16428
Suspension Control Arm and Ball Joint
Assembly

Front Left Lower
IBIZA  Ball Joint D=Ø19mm

191407151B

VW-16425N
Suspension Control Arm

Front
IBIZA

191407151A

VW-16427N
Suspension Control Arm

Front Right Lower

191407152B

VW-16428N
Suspension Control Arm

Front Left Lower

191407151B

VW-14410
Stabilizer Link

Front
IBIZA  L=75mm-D=Ø16,5mm

191411315

VW-11403
Ball Joint

Front
D=Ø17mm

191407365B

VW-14420
Stabilizer Link

Front
withbushing  L=77mm

191411315B

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 32 info@parsrot.com



VOLKSWAGEN

JETTA MK2/A2 1983-1992

VW-16426
Suspension Control Arm and Ball Joint

Assembly

Front Left Lower
Ball Joint D=Ø17mm

192407151A

VW-16425
Suspension Control Arm and Ball Joint
Assembly

Front Right Lower
Ball Joint D=Ø17mm

191407151A

VW-11403K
Suspension Ball Joint Kit

Front
D=Ø17mm

191407365B

JETTA MK3/A3 1991-1998

VW-13505
Axial Joint

Front
ManualSteering  M14x1,5Rht-L=397mm

1H0419821

VW-23517
Steering Tie Rod Assembly

Front Right
ManualSteering

1H0419804

VW-23516
Steering Tie Rod Assembly

Front Left
PowerSteering

1H0422803

VW-23515
Steering Tie Rod Assembly

Front Right
PowerSteering

1H0422804

VW-13506
Axial Joint

Front
PowerSteering  M14x1.5Rht-L=370mm

1H0422821

VW-16525N
Suspension Control Arm

Front

1H0407151

VW-16526
Suspension Control Arm and Ball Joint

Assembly

Front Left Lower

1H0407151

VW-16525
Suspension Control Arm and Ball Joint
Assembly

Front Right Lower

1H0407152

VW-23518
Steering Tie Rod Assembly

Front Left
ManualSteering

357419803A

VW-14511
Stabilizer Link

Front
Only:GTI  L=51mm

535411315

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 33 info@parsrot.com



VOLKSWAGEN

JETTA MK3/A3 1991-1998

VW-14510
Stabilizer Link

Front
IBIZA  L=69.5mm-D=Ø17.5mm

191411315B

VW-14907
Stabilizer Link

Front
L=78mm-D=Ø18mm

6K0411315

VW-16536N
Suspension Control Arm

Front Left Lower
Only:GTI16V

1H0407151A

VW-16535N
Suspension Control Arm

Front Right Lower
Only:GTI16V

1H0407152

VW-16536
Suspension Control Arm and Ball Joint

Assembly

Front Left Lower
Only:GTI16V

1H0407151A

VW-16535
Suspension Control Arm and Ball Joint
Assembly

Front Right Lower
Only:GTI16V

1H0407152

VW-11404K
Suspension Ball Joint Kit

Front
IBIZA

357407365S1

VW-11404
Ball Joint

Front
IBIZA

357407365A

VW-11530
Ball Joint

Front
(Withinforcement)IBIZA 

D=Ø19mmOnly:GTI

1H0407365

VW-12401
Tie Rod End

Front Right
M14x1,5Rht

3A0422812

VW-12402
Tie Rod End

Front Left Outer
M14x1,5Rht

3A0422811

JETTA MK4/A4 1998-2003

VW-18700
Suspension Control Arm Repair Kit

Front
Ch.8L-W-050-423-->

VW-14533
Stabilizer Link

Front Right
Only:GolfIVCh.No:->OPT858  L=340mm

68510018

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 34 info@parsrot.com



VOLKSWAGEN

JETTA MK4/A4 1998-2003

VW-14534
Stabilizer Link

Front Left
Only:GolfIVCh.No:->OPT858  L=340mm

68510017

VW-14537
Stabilizer Link

Front
PlasticOnly:GOLFIV  L=105mm

1J0411315K

AU-13503
Axial Joint

Front Inner
Ch.8L-W-050-423->  M14x1,5-L=320mm

1J0422807A

AU-13543
Axial Joint

Front
Ch.No:->8L-W-050-422 
M14x1,5Rht-L=338mm

1J0422821A

AU-23506
Steering Tie Rod Assembly

Front Right
Ch.8L.W-050-423->

1H0422804D

AU-23548
Steering Tie Rod Assembly

Front Left
Ch.No:->8L-W-050-422

1J0422803C

AU-12508
Tie Rod End

Front Right Outer
RhtCh.>>8L-W-050-422  M14x1,5

1J0422812L

AU-23547
Steering Tie Rod Assembly

Front Right
Ch.No:->8L-W-050-422

1j0422804C

AU-23507
Steering Tie Rod Assembly

Front Left
Ch.8L.W-050-423->

1H0422803D

AU-12509
Tie Rod End

Front Left Outer
RhtCh.>>8L-W-050-422  M14x1,5

1J0422811L

AU-11504
Ball Joint

Front Right Lower

1J0407366C

AU-11504S
Ball Joint

Front Right Lower
Kit

1J0407366C

AU-11505
Ball Joint

Front Left Lower

1J0407365B

AU-11505S
Ball Joint

Front Left Lower
Kit

1J0407366C

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 35 info@parsrot.com



VOLKSWAGEN

JETTA MK4/A4 1998-2003

AU-16525
Suspension Control Arm and Ball Joint

Assembly

Front Right Lower

1J0407151B

AU-16526
Suspension Control Arm and Ball Joint
Assembly

Front Left Lower

1J0407151A

AU-18151
Suspension Control Arm Repair Kit

Front
A-504K/A-505K-V-532-SB12/SB155

AU-16525N
Suspension Control Arm

Front

1J0407151C

AU-12501
Tie Rod End

Front Right
M14x1,5Rht

6Q0419812

AU-12502
Tie Rod End

Front Left
M14x1,5Rht

6Q0419811

VW-14532
Stabilizer Link

Front
Metal  L=105mm

1J0422315G

VW-14531
Stabilizer Link

Front
Plastic  L=105,5mm

1J0411315C

AU-14586
Stabilizer Link

Rear
L=175mm

1J0505466B

AU-14500
Stabilizer Link

Front Right
4Motion  L=336mm

1J0411316D

AU-14499
Stabilizer Link

Front Left
4Motion  L=336mm

1J0411315D

JETTA MK5/A5 2005-2010

VW-12552
Tie Rod End

Front Left
M16x1,5Rht

1K0423811K

VW-13553
Axial Joint

Front Inner
M16x1,5-L=310mm

1K0423810A

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 36 info@parsrot.com



VOLKSWAGEN

JETTA MK5/A5 2005-2010

VW-12551
Tie Rod End

Front Right
M16x1,5Rht

1K0423812K

VW-14557
Stabilizer Link

Front
L=335mm

1K0411315J

VW-11556
Ball Joint

Front Left Lower

1K0407365E

VW-11555
Ball Joint

Front Right Lower

1K0407366E

VW-19228
Lateral Arm

Rear Lower

1K0505311AB

VW-14558
Stabilizer Link

Rear
L=95,5mm

1K0505465K

VW-16549N
Suspension Control Arm

Front

3C0407151E

VW-16550
Suspension Control Arm and Ball Joint
Assembly

Front Left

3C0407151H

VW-16549
Suspension Control Arm and Ball Joint

Assembly

Front Right

3C0407151G

SK-16459N
Suspension Control Arm

Front Left Lower

1K0407151H

SK-16458N
Suspension Control Arm

Front Right Lower

1K0407152BC

SK-16459
Suspension Control Arm and Ball Joint
Assembly

Front Left Lower

1K0407151BC

SK-16458
Suspension Control Arm and Ball Joint

Assembly

Front Right Lower

1K0407152BC

VW-11655
Ball Joint

Right

3C0407366A

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 37 info@parsrot.com



VOLKSWAGEN

JETTA MK5/A5 2005-2010

VW-11656
Ball Joint

Front Left

3C0407365A

VW-14558
Stabilizer Link

Rear
L=95,5mm

1K0505465K

VW-19228
Lateral Arm

Rear Lower

1K0505311AB

VW-11555
Ball Joint

Front Right Lower

1K0407366E

VW-11556
Ball Joint

Front Left Lower

1K0407365E

VW-14557
Stabilizer Link

Front
L=335mm

1K0411315J

VW-12551
Tie Rod End

Front Right
M16x1,5Rht

1K0423812K

VW-13553
Axial Joint

Front Inner
M16x1,5-L=310mm

1K0423810A

VW-12552
Tie Rod End

Front Left
M16x1,5Rht

1K0423811K

LT 28-35, Typ 28/Typ 21 1975-1996

VW-20173
Control Arm Bushing

Upper

281407077

VW-17807
Steering Center Link

Front
L=365mm

281415802A

VW-17808
Steering Center Link

Front

281415801D

VW-12801
Tie Rod End

Front Right
M16x1,5Rht

281415801DRH

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 38 info@parsrot.com



VOLKSWAGEN

LT 28-35, Typ 28/Typ 21 1975-1996

VW-12802
Tie Rod End

Front Left
M16x1,5Lht

281415801DLH

VW-11804
Ball Joint

Front

281407361

VW-11805
Ball Joint

Front Lower

281407187B

LT 28-35-46, Typ 2D 1996-2006

VW-20173
Control Arm Bushing

Upper

281407077

MB-14706
Stabilizer Link

Front Right
EXC.616CDI  L=115mm

9013200389

MB-14707
Stabilizer Link

Front Left
EXC.616CDI  L=115mm

9013200289

MB-14708
Stabilizer Link

Rear
L=93mm

9013200089

MB-13703
Axial Joint

Front
M16x1,5Rht-L=388mm

9014600455

MB-23701703
Steering Tie Rod Assembly

Front

9014600205

MB-12701
Tie Rod End

Front
M16x1,5Rht

9014600148

MB-11705
Ball Joint

Front Lower

9013330727

MB-16709
Suspension Control Arm and Ball Joint

Assembly

Front Right Lower

9013302507

MB-16710
Suspension Control Arm and Ball Joint
Assembly

Front Left Lower

9013302407

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 39 info@parsrot.com



VOLKSWAGEN

LT 28-35-46, Typ 2D 1996-2006

MB-18712
Suspension Control Arm Repair Kit

Front
M-701/M-703/M-705/M-706/M-707/SB40

5

MB-18711
Suspension Control Arm Repair Kit

Front
M-701/M-703/M-706/M-707/M-709/M-71
0

LUPO 1998-2005

SE-2048
Control Arm Bushing

Front Outer

6N0407181

SE-20193
Control Arm Bushing

Center

6N0407182

VW-14930
Stabilizer Link

Front
PLS.  D=Ø18mm

6E0411315

VW-16935
Suspension Control Arm and Ball Joint
Assembly

Front Right Lower

6X0407151

VW-16936
Suspension Control Arm and Ball Joint

Assembly

Front Left Lower

6X0407151

VW-16935N
Suspension Control Arm

Front

6X0407151

VW-12402
Tie Rod End

Front Left Outer
M14x1,5Rht

3A0422811

VW-12401
Tie Rod End

Front Right
M14x1,5Rht

3A0422812

VW-23914
Steering Tie Rod Assembly

Front Right
ManuelSteering

6N0422804

VW-23912913
Steering Tie Rod Assembly

Front Left
withPS,Hydro

6N0422803C

VW-23911913
Steering Tie Rod Assembly

Front Right
(withPS,Hydro)

6N0422804C

VW-13913
Axial Joint

Front
(withPS,Hydro)  M14x1,5Rht

6N0422804C

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 40 info@parsrot.com



VOLKSWAGEN

LUPO 1998-2005

VW-13903
Axial Joint

Front
ManuelSteering  M14x1,5Rht-L=306mm

6N0419803

VW-13902
Axial Joint

Front
PowerSteering 
M14x1,5Rht-L=312.5mm

6N0422803A

VW-14909
Stabilizer Link

Front
L=30mm-D=Ø16,5mm

6N0411315

VW-14906
Stabilizer Link

Front
L=30mm-D=Ø18,5mm

6N0411315D

VW-11905K
Suspension Ball Joint Kit

Front Left

6N0407365

VW-11904K
Suspension Ball Joint Kit

Front Right

6N0407366

VW-11905
Ball Joint

Front Left Lower

6N0407365

VW-11904
Ball Joint

Right

6N0407366

VW-23917
Steering Tie Rod Assembly

Front Left
PowerSteering

6X0419803A

VW-23916
Steering Tie Rod Assembly

Front Right
PowerSteering

6N0419804A

VW-23915
Steering Tie Rod Assembly

Front Left
ManuelSteering

6N0422803

PASSAT 3G2 2014 after

VW-11656
Ball Joint

Front Left

3C0407365A

VW-11655
Ball Joint

Right

3C0407366A

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 41 info@parsrot.com



VOLKSWAGEN

PASSAT 3G2 2014 after

VW-13233
Axial Joint

Front Inner

561423810

VW-16678
Suspension Control Arm and Ball Joint
Assembly

Front Right Lower

3Q0407154B

VW-16679
Suspension Control Arm and Ball Joint

Assembly

Front Left Lower

3Q0407153B

VW-19677
Lateral Arm

Rear Lower

3Q0505311E

VW-19676
Lateral Arm

Rear Left

3Q0505223

VW-19675
Lateral Arm

Rear Right

3Q0505224

VW-12551
Tie Rod End

Front Right
M16x1,5Rht

1K0423812K

VW-12552
Tie Rod End

Front Left
M16x1,5Rht

1K0423811K

VW-14557
Stabilizer Link

Front
L=335mm

1K0411315J

VW-14580
Stabilizer Link

Rear
L=70mm

5Q0505465A

PASSAT B2 1980-1988

AU-16126
Suspension Control Arm and Ball Joint

Assembly

Front Left Lower
Ball Joint D=Ø17mm

893407147C

AU-16125N
Suspension Control Arm

Front Right Lower

893407148C

AU-16126N
Suspension Control Arm

Front Left Lower

893407147C

AU-11105
Ball Joint

Front Left Lower
D=Ø17mm

855407365B

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 42 info@parsrot.com



VOLKSWAGEN

PASSAT B2 1980-1988

AU-2010
Control Arm Bushing

Inner

8A0407181

AU-12101
Tie Rod End

Front
M14x1,5Rht

811419812B

AU-16125
Suspension Control Arm and Ball Joint

Assembly

Front Right Lower
Ball Joint D=Ø17mm

893407148C

AU-11104
Ball Joint

Front Right Lower
D=Ø17mm

855407366B

PASSAT B3, B4 1988-1997

SE-20156A
Control Arm Bushing

Front

357407181

VW-20553
Control Arm Bushing

Front

357411329

VW-20332
Control Arm Bushing

Front Inner

357411329

SE-20438
Control Arm Bushing

Front Inner

191407181D

VW-11404
Ball Joint

Front
IBIZA

357407365A

VW-11404K
Suspension Ball Joint Kit

Front
IBIZA

357407365S1

VW-13451
Axial Joint

Front
M14x1,5Rht-L=370mm

357419821

VW-13452
Axial Joint

Front
M14x1,5Rht-L=359mm

357422821

VW-23453
Steering Tie Rod Assembly

Front Right
ManuelSteering

357419804

VW-23454
Steering Tie Rod Assembly

Front Left
ManuelSteering

357419803

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 43 info@parsrot.com



VOLKSWAGEN

PASSAT B3, B4 1988-1997

VW-23455
Steering Tie Rod Assembly

Front Right
PowerSteering

357422804

VW-23456
Steering Tie Rod Assembly

Front Left
PowerSteering

357422803

VW-16461
Suspension Control Arm and Ball Joint

Assembly

Front Right Lower
Ball Joint D=Ø19mm

357407151

VW-16462
Suspension Control Arm and Ball Joint
Assembly

Front Left Lower
Ball Joint D=Ø19mm

357407151

VW-16461N
Suspension Control Arm

Front

357407151

VW-18565
Suspension Control Arm Repair Kit

Front
V-461-V-462/V-455-V-456

VW-14460
Stabilizer Link

Front
Complete  L=79,5mm-D=Ø19mm

357411315C

VW-14470
Stabilizer Link

Front
Complete  L=79,5mm-D=Ø21mm

357411315D

VW-14480
Stabilizer Link

Front
Complete  L=79,5mm-D=Ø23mm

357411315

VW-12401
Tie Rod End

Front Right
M14x1,5Rht

3A0422812

VW-12402
Tie Rod End

Front Left Outer
M14x1,5Rht

3A0422811

PASSAT B5, B5.5 1997-2005

AU-18588
Suspension Control Arm Repair Kit

Front
A-511/A-514-A515/A-516-A-517/A-518-5

19/A-520C/A-528-A529

AU-14541
Stabilizer Link

Rear
PassatCh.No:->4B-W-000001 
L=62,5mm

8E0505465D

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 44 info@parsrot.com



VOLKSWAGEN

PASSAT B5, B5.5 1997-2005

AU-20569
Control Arm Bushing

Front

4D0407183Q

AU-20471
Control Arm Bushing

Lower Center

8E0407151M

AU-2016
Control Arm Bushing

Rear Lower

8E0407182A

AU-2017
Control Arm Bushing

Lower Center

4D0407183P

AU-2014
Control Arm Bushing

Upper

4D0407515C

AU-2015
Control Arm Bushing

Front Lower Center

4D0407181H

AU-2018
Suspension Stabilizer Bar Link Bushing

Front

8D0407318D

VW-20558K
Suspension Stabilizer Bar Link Kit

Rear
L=95,5mm

1K0505465KS1

VW-14558
Stabilizer Link

Rear
L=95,5mm

1K0505465K

AU-23513
Steering Tie Rod Assembly

Front

4D0419801C

AU-13512
Axial Joint

Front
M14x1.5Rht-L=119,5mm

4D0422821

AU-12511
Tie Rod End

Front
Ch.->8D-W-260192->8D-W-152089 
M14x1,5Rht

4D0419811B

AU-16514
Suspension Control Arm and Ball Joint

Assembly

Front Right Upper Rear

4D0407510J

AU-16516
Suspension Control Arm and Ball Joint
Assembly

Front Right Upper Front

8D0407506H

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 45 info@parsrot.com



VOLKSWAGEN

PASSAT B5, B5.5 1997-2005

AU-16515
Suspension Control Arm and Ball Joint

Assembly

Front Left Upper Rear

4D0407509J

AU-18555
Suspension Control Arm Repair Kit

Front
Year->2000A-511/514A-515A/516-517/5
18-519/520/528/529

8d0498998S1

AU-14528
Stabilizer Link

Front Right
WithBoltsAndNuts  L=90mm

8D0411318D

AU-14510
Stabilizer Link

Front
L=86mm

4D0411317K

AU-16518
Suspension Control Arm and Ball Joint

Assembly

Front Right Lower Rear

4D0407694N

AU-16517
Suspension Control Arm and Ball Joint
Assembly

Front Left Upper Front

8D0407505H

AU-16520
Suspension Control Arm and Ball Joint

Assembly

Front Lower Front
D=Ø20,6mm

4D0407151H

AU-16519
Suspension Control Arm and Ball Joint
Assembly

Front Left Lower

4D0407693N

AU-16517A
Suspension Control Arm and Ball Joint

Assembly

Front Left Upper Front
Ch.8D-W-006471>8D-X-200001>

8E0407505A

AU-16520A
Suspension Control Arm and Ball Joint
Assembly

Front Lower Front
D=16,30mm1/6

8E0407151M

AU-18577
Suspension Control Arm Repair Kit

Front
A-511A/A-514-515A/A-516-517A/A-518/

A519/A-520A/A-538/A-539

8E0498998

AU-16516A
Suspension Control Arm and Ball Joint
Assembly

Front Right Upper Front
Ch.8D-W-006471>8D-X-200001>

8D0407506B

AU-16515A
Suspension Control Arm and Ball Joint

Assembly

Front Left Upper Rear
Ch.8D-W-006471>Ch.8D-X-200001>

4D0407509G

AU-16514A
Suspension Control Arm and Ball Joint
Assembly

Front Right Upper Rear
Ch.8D-W-006471>Ch.8D-X-200001>

4D0407510G

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 46 info@parsrot.com



VOLKSWAGEN

PASSAT B5, B5.5 1997-2005

AU-12511A
Tie Rod End

Front Outer
M14x1,5Rht

8E0419811C

AU-14529
Stabilizer Link

Front Left
WithBoltsAndNuts  L=90mm

8D0411317D

AU-18153
Suspension Control Arm Repair Kit

Front
A-511.A-514/A-515.A-516/A-517.A-518/

A-519.A-520.A-528/A-529

AU-14530
Stabilizer Link

Front
WithBoltsAndNuts  L=90mm

4D0411317K

AU-23513A
Steering Tie Rod Assembly

Front

8E0419801B

AU-16520C
Suspension Control Arm and Ball Joint
Assembly

Front Lower Front

4B3407151K

PASSAT B6 2005-2010

VW-16549
Suspension Control Arm and Ball Joint

Assembly

Front Right

3C0407151G

AU-19717
Lateral Arm

Rear Left Lower

3C0505223

AU-19716
Lateral Arm

Rear Right Lower

3C0505224

VW-16550
Suspension Control Arm and Ball Joint
Assembly

Front Left

3C0407151H

VW-16549N
Suspension Control Arm

Front

3C0407151E

VW-18540
Suspension Control Arm Repair Kit

Front
V-549-V-550/V-551-V-552/V-5532AD/V-
5572AD

VW-14558
Stabilizer Link

Rear
L=95,5mm

1K0505465K

VW-14557
Stabilizer Link

Front
L=335mm

1K0411315J

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 47 info@parsrot.com



VOLKSWAGEN

PASSAT B6 2005-2010

VW-20558K
Suspension Stabilizer Bar Link Kit

Rear
L=95,5mm

1K0505465KS1

VW-19228
Lateral Arm

Rear Lower

1K0505311AB

VW-12552
Tie Rod End

Front Left
M16x1,5Rht

1K0423811K

VW-13553
Axial Joint

Front Inner
M16x1,5-L=310mm

1K0423810A

VW-12551
Tie Rod End

Front Right
M16x1,5Rht

1K0423812K

AU-19558
Lateral Arm

Rear Upper

1K0505323N

AU-20487
Control Arm Bushing

Center

5Q0407182

AU-20494
Control Arm Bushing

Front Left Inner

3C0199231D

VW-11656
Ball Joint

Front Left

3C0407365A

VW-11655
Ball Joint

Right

3C0407366A

PASSAT B7 2010-2015

VW-11655
Ball Joint

Right

3C0407366A

VW-11656
Ball Joint

Front Left

3C0407365A

VW-16668
Suspension Control Arm and Ball Joint

Assembly

Front Right Lower

5N0407152

VW-16669
Suspension Control Arm and Ball Joint
Assembly

Front Left Lower

5N0407151

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 48 info@parsrot.com



VOLKSWAGEN

PASSAT B7 2010-2015

VW-16668N
Suspension Control Arm

Front Right Lower

5N0407152

VW-16669N
Suspension Control Arm

Front Left Lower

5N0407151

AU-20494
Control Arm Bushing

Front Left Inner

3C0199231D

AU-20487
Control Arm Bushing

Center

5Q0407182

SK-19457
Lateral Arm

Rear Lower
L=298mm

1K0501529J

VW-12551
Tie Rod End

Front Right
M16x1,5Rht

1K0423812K

VW-13553
Axial Joint

Front Inner
M16x1,5-L=310mm

1K0423810A

VW-12552
Tie Rod End

Front Left
M16x1,5Rht

1K0423811K

VW-19228
Lateral Arm

Rear Lower

1K0505311AB

VW-20558K
Suspension Stabilizer Bar Link Kit

Rear
L=95,5mm

1K0505465KS1

VW-14557
Stabilizer Link

Front
L=335mm

1K0411315J

VW-14558
Stabilizer Link

Rear
L=95,5mm

1K0505465K

VW-18540
Suspension Control Arm Repair Kit

Front
V-549-V-550/V-551-V-552/V-5532AD/V-

5572AD

VW-16549N
Suspension Control Arm

Front

3C0407151E

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 49 info@parsrot.com



VOLKSWAGEN

PASSAT B7 2010-2015

VW-16550
Suspension Control Arm and Ball Joint

Assembly

Front Left

3C0407151H

VW-16549
Suspension Control Arm and Ball Joint
Assembly

Front Right

3C0407151G

PHAETON 2002-2016

AU-16820
Suspension Control Arm and Ball Joint

Assembly

Front Lower

4E0407151L

AU-16819
Suspension Control Arm and Ball Joint
Assembly

Front Left Lower

4E0407693F

AU-18810
Suspension Control Arm Repair Kit

Front
A-811/A-614-A615/A-616-A-617/A-818-

A-819/A820/A-544

AU-19817
Lateral Arm

Rear Lower
Aluminium

4E0501529G

AU-14537
Stabilizer Link

Rear Left
L=61,5mm

4E0505547L

AU-14536
Stabilizer Link

Rear Right
L=61,5mm

4E0505548L

AU-16818
Suspension Control Arm and Ball Joint

Assembly

Front Right Lower

4E0407694F

AU-12811
Tie Rod End

Front
M16x1,5Rht

4E0419811D

AU-23811812
Steering Tie Rod Assembly

Front

4E0419801D

AU-13812
Axial Joint

Front
M16x1,5Rht-L=127mm

4E0419821

AU-14544
Stabilizer Link

Front
L=110mm

4E0411317E

AU-16616
Suspension Control Arm and Ball Joint
Assembly

Front Right Upper Front

4E0407506B

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 50 info@parsrot.com



VOLKSWAGEN

PHAETON 2002-2016

AU-16617
Suspension Control Arm and Ball Joint

Assembly

Front Left Upper Front

4E0407505B

AU-16614
Suspension Control Arm and Ball Joint
Assembly

Front Right Upper Rear

4E0407510B

AU-16615
Suspension Control Arm and Ball Joint

Assembly

Front Left Upper Rear

4E0407509B

AU-2014
Control Arm Bushing

Upper

4D0407515C

AU-20657
Control Arm Bushing

Upper

8D0407515B

AU-20656
Control Arm Bushing

Lower Center

4E0407183B

AU-20654
Control Arm Bushing

Rear Lower

4E0407182C

AU-20655
Control Arm Bushing

Lower Center

4E0407181B

POLO ( 6N1 ) 1994-2001

VW-12402
Tie Rod End

Front Left Outer
M14x1,5Rht

3A0422811

VW-12401
Tie Rod End

Front Right
M14x1,5Rht

3A0422812

VW-13902
Axial Joint

Front
PowerSteering 

M14x1,5Rht-L=312.5mm

6N0422803A

VW-13903
Axial Joint

Front
ManuelSteering  M14x1,5Rht-L=306mm

6N0419803

VW-13913
Axial Joint

Front
(withPS,Hydro)  M14x1,5Rht

6N0422804C

VW-23911913
Steering Tie Rod Assembly

Front Right
(withPS,Hydro)

6N0422804C

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 51 info@parsrot.com



VOLKSWAGEN

POLO ( 6N1 ) 1994-2001

VW-23912913
Steering Tie Rod Assembly

Front Left
withPS,Hydro

6N0422803C

VW-23914
Steering Tie Rod Assembly

Front Right
ManuelSteering

6N0422804

VW-23915
Steering Tie Rod Assembly

Front Left
ManuelSteering

6N0422803

VW-23916
Steering Tie Rod Assembly

Front Right
PowerSteering

6N0419804A

VW-23917
Steering Tie Rod Assembly

Front Left
PowerSteering

6X0419803A

VW-11904
Ball Joint

Right

6N0407366

VW-11905
Ball Joint

Front Left Lower

6N0407365

VW-11904K
Suspension Ball Joint Kit

Front Right

6N0407366

VW-11905K
Suspension Ball Joint Kit

Front Left

6N0407365

VW-16925
Suspension Control Arm and Ball Joint
Assembly

Front Right Lower

6N0407365A

VW-14906
Stabilizer Link

Front
L=30mm-D=Ø18,5mm

6N0411315D

VW-16925N
Suspension Control Arm

Front

6N0407151

VW-16926
Suspension Control Arm and Ball Joint

Assembly

Front Left Lower

6N0407365

VW-14909
Stabilizer Link

Front
L=30mm-D=Ø16,5mm

6N0411315

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 52 info@parsrot.com



VOLKSWAGEN

POLO ( 6N1 ) 1994-2001

VW-12911
Tie Rod End

Front Right
(withPS,Hydro)  M14x1,5Rht

6X0422812

VW-12912
Tie Rod End

Front Left
(withPS,Hydro)  M14x1,5Rht

6X0422811

VW-12331
Tie Rod End

Front Right
(WITHPS)  M14x1,5Rht

3A0422812

VW-12332
Tie Rod End

Front Left
(WITHPS)  M14x1,5Rht

3A0422811

VW-13333
Axial Joint

Front
(WITHPS)  M14x1,5Rht

6K0422804D

VW-23331333
Steering Tie Rod Assembly

Front Right
(WITHPS)  M14x1,5Rht

6K0422804D

VW-23332333
Steering Tie Rod Assembly

Front Left
(WITHPS)  M14x1,5Rht

6K0422803D

SE-20193
Control Arm Bushing

Center

6N0407182

SE-2048
Control Arm Bushing

Front Outer

6N0407181

POLO ( 6R ) 2009-2017

AU-2012
Control Arm Bushing

Front Right Lower Outer

1J0407181

SK-11425
Ball Joint

Front Left Lower

6R0407365

SK-12401
Tie Rod End

Front Right Outer
M14x1,5Rht

6Q0423812D

VW-16928
Suspension Control Arm and Ball Joint
Assembly

Front Left Lower

6R0407151F

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 53 info@parsrot.com



VOLKSWAGEN

POLO ( 6R ) 2009-2017

VW-16927
Suspension Control Arm and Ball Joint

Assembly

Front Right Lower

6R0407152F

SK-12402
Tie Rod End

Front Left Outer
M14x1,5Rht

6Q0423811D

SK-11424
Ball Joint

Front Right Lower

6R0407366

VW-13923
Axial Joint

Front
M14x1,5-L=313mm

8Z0419810C

SK-23402923
Steering Tie Rod Assembly

Front Left

8Z0423803C

SK-23401923
Steering Tie Rod Assembly

Front Right

8Z0423804C

SK-14407
Stabilizer Link

Front
L=270mm

6Q0411315D

VW-16927N
Suspension Control Arm

Front Right Lower

6R0407152A

VW-16928N
Suspension Control Arm

Front Left Lower

6R0407151A

POLO ( 9N ) 2001-2009

SK-18414
Suspension Control Arm Repair Kit

Front
SK-410K-SK-411K/SK-401-SK-402/SK-

4072AD

SK-18411K
Suspension Control Arm Kit

Front Left

6Q0407151DL

SK-18410K
Suspension Control Arm Kit

Front Right

6Q0407151DR

SK-23401403
Steering Tie Rod Assembly

Front Right
ManualSteering

6Q0422804B

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 54 info@parsrot.com



VOLKSWAGEN

POLO ( 9N ) 2001-2009

SK-23402403
Steering Tie Rod Assembly

Front Left
TRWSteering

6Q0422803B

SK-23402404
Steering Tie Rod Assembly

Front Left
KOYOSteering

6Q0422803G

SK-23401404
Steering Tie Rod Assembly

Front Right
KOYOSteering

6Q0422804G

SK-13400
Axial Joint

Front
manualsteering

6Q0419803F

SK-14407
Stabilizer Link

Front
L=270mm

6Q0411315D

SK-16410N
Suspension Control Arm

Front

6Q0407151D

SK-16411
Suspension Control Arm and Ball Joint

Assembly

Front Left Lower

6Q0407365A

SK-16410
Suspension Control Arm and Ball Joint
Assembly

Front Right Lower

6Q0407366A

SK-11406
Ball Joint

Front Left Lower

8Z0407365A

SK-11405
Ball Joint

Front Right Lower

8Z0407366A

VW-14908
Stabilizer Link

Front
L=270mm

6Q0411315G

SK-12402
Tie Rod End

Front Left Outer
M14x1,5Rht

6Q0423811D

SK-12401
Tie Rod End

Front Right Outer
M14x1,5Rht

6Q0423812D

SE-20492
Control Arm Bushing

Front Right Lower Inner

6Q0407182A

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 55 info@parsrot.com



VOLKSWAGEN

POLO ( 9N ) 2001-2009

SE-20522
Control Arm Bushing

Inner

6Q0407183A

POLO 86 1974-1994

AU-12100
Tie Rod End

Front
M14x1,5Rht

811419812

VW-17840
Steering Center Link

Right
LeftHandDriveVehicles  (515mm)

871419801A

VW-17841
Steering Center Link

Left
RıhtHandDriveVehicles  (516mm)

872419802A

VW-16849
Suspension Control Arm and Ball Joint
Assembly

Front
Ø14mm

861407151A

VW-16850
Suspension Control Arm and Ball Joint

Assembly

Front
Ø15mm

861407151B

POLO AW1 2017 after

VW-13933
Axial Joint

Front

2Q0423810D

VW-12931
Tie Rod End

Front Right

2Q0423812

VW-12932
Tie Rod End

Front Left

2Q0423811

VW-16949N
Suspension Control Arm

Front Left Lower

2Q0407151C

VW-16948N
Suspension Control Arm

Front Right Lower

2Q0407152C

VW-16939
Suspension Control Arm and Ball Joint
Assembly

Front Left Lower

2Q0407151B

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 56 info@parsrot.com



VOLKSWAGEN

POLO AW1 2017 after

VW-16938
Suspension Control Arm and Ball Joint

Assembly

Front Right Lower

2Q0407152B

VW-16939N
Suspension Control Arm

Front Left Lower

2Q0407151B

VW-16938N
Suspension Control Arm

Front Right Lower

2Q0407152B

VW-16949
Suspension Control Arm and Ball Joint
Assembly

Front Left Lower

2Q0407151C

VW-16948
Suspension Control Arm and Ball Joint

Assembly

Front Right Lower

2Q0407152C

POLO CLASSIC 1995-2001

VW-12401
Tie Rod End

Front Right
M14x1,5Rht

3A0422812

VW-12402
Tie Rod End

Front Left Outer
M14x1,5Rht

3A0422811

VW-14909
Stabilizer Link

Front
L=30mm-D=Ø16,5mm

6N0411315

VW-16426
Suspension Control Arm and Ball Joint
Assembly

Front Left Lower
Ball Joint D=Ø17mm

192407151A

VW-11403K
Suspension Ball Joint Kit

Front
D=Ø17mm

191407365B

VW-16425
Suspension Control Arm and Ball Joint
Assembly

Front Right Lower
Ball Joint D=Ø17mm

191407151A

VW-11403
Ball Joint

Front
D=Ø17mm

191407365B

VW-16428N
Suspension Control Arm

Front Left Lower

191407151B

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 57 info@parsrot.com



VOLKSWAGEN

POLO CLASSIC 1995-2001

VW-16427N
Suspension Control Arm

Front Right Lower

191407152B

VW-11404K
Suspension Ball Joint Kit

Front
IBIZA

357407365S1

VW-16427
Suspension Control Arm and Ball Joint

Assembly

Front Right Lower
IBIZA  Ball Joint D=Ø19mm

191407152B

VW-16428
Suspension Control Arm and Ball Joint
Assembly

Front Left Lower
IBIZA  Ball Joint D=Ø19mm

191407151B

VW-16425N
Suspension Control Arm

Front
IBIZA

191407151A

VW-11404
Ball Joint

Front
IBIZA

357407365A

VW-13406
Axial Joint

Front
PowerSteering  M14x1,5Rht-L=340mm

191422721

SE-20156
Control Arm Bushing

Front Outer

357407181

SE-20159
Control Arm Bushing

Rear

823407181

SE-20156A
Control Arm Bushing

Front

357407181

VW-20297
Control Arm Bushing

Center

861407183

Rabbit MK1/A1 1974-1984

VW-13302
Axial Joint

Front
M14x1,5Rht-L=343mm

171419821A

VW-23301302
Steering Tie Rod Assembly

Front

171419804

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 58 info@parsrot.com



VOLKSWAGEN

Rabbit MK1/A1 1974-1984

VW-11303
Ball Joint

Front Lower
D=Ø15mm

171407365D

VW-16325N
Suspension Control Arm

Front

171407153D

VW-16326
Suspension Control Arm and Ball Joint

Assembly

Front Left Lower
Ball Joint D=Ø17mm

171407153D

VW-16325
Suspension Control Arm and Ball Joint
Assembly

Front Right Lower
Ball Joint D=Ø17mm

171407153D

VW-11304
Ball Joint

Front

171407365G

VW-12301
Tie Rod End

Front
M14x1,5Rht

251419811

Rabbit MK5/A5 2003-2009

VW-14567
Stabilizer Link

Rear
L=241mm

2K0505465C

VW-16561N
Suspension Control Arm

Front Right Lower
Only:Diesel

1K0407152M

AU-18152
Suspension Control Arm Repair Kit

Front
V-555/V-556-V-557-SB487/SB488/SB48

9

VW-16560N
Suspension Control Arm

Front Left Lower
Only:Petrol

1K0407151Q

VW-16562N
Suspension Control Arm

Front Left Lower
Only:Diesel

1K0407151M

VW-16559N
Suspension Control Arm

Front Right Lower
Only:Petrol

1K0407152Q

VW-16562
Suspension Control Arm and Ball Joint

Assembly

Front Left Lower
Only:Diesel

1K0407151AC

VW-12552
Tie Rod End

Front Left
M16x1,5Rht

1K0423811K

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 59 info@parsrot.com



VOLKSWAGEN

Rabbit MK5/A5 2003-2009

VW-12551
Tie Rod End

Front Right
M16x1,5Rht

1K0423812K

VW-11555
Ball Joint

Front Right Lower

1K0407366E

VW-16559
Suspension Control Arm and Ball Joint

Assembly

Front Right Lower
Only:Petrol

1K0407152Q

VW-11556
Ball Joint

Front Left Lower

1K0407365E

VW-16560
Suspension Control Arm and Ball Joint

Assembly

Front Left Lower
Only:Petrol

1K0407151Q

VW-13553
Axial Joint

Front Inner
M16x1,5-L=310mm

1K0423810A

SK-19457
Lateral Arm

Rear Lower
L=298mm

1K0501529J

SE-19109
Lateral Arm

Rear Left Lower
L=298mm

1K0501529F

AU-19558
Lateral Arm

Rear Upper

1K0505323N

SE-19108
Lateral Arm

Rear Right Lower
L=298mm

1K0501530C

VW-14558
Stabilizer Link

Rear
L=95,5mm

1K0505465K

VW-14557
Stabilizer Link

Front
L=335mm

1K0411315J

SAVERIO 2nd Gen 1996-2003

VW-11457
Ball Joint

Front Right Lower
D=Ø17mm

2405457

VW-11458
Ball Joint

Front Left Lower
D=Ø17mm

2405458

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 60 info@parsrot.com



VOLKSWAGEN

SHARAN ( 7N ) 2010 after

VW-14558
Stabilizer Link

Rear
L=95,5mm

1K0505465K

VW-20558K
Suspension Stabilizer Bar Link Kit

Rear
L=95,5mm

1K0505465KS1

VW-13553
Axial Joint

Front Inner
M16x1,5-L=310mm

1K0423810A

VW-12551
Tie Rod End

Front Right
M16x1,5Rht

1K0423812K

VW-12552
Tie Rod End

Front Left
M16x1,5Rht

1K0423811K

SHARAN (7M6,7M8,7M9) 1995-2010

VW-13553
Axial Joint

Front Inner
M16x1,5-L=310mm

1K0423810A

VW-13753
Axial Joint

Front Inner
M14x1,5-L=182.5mm

7M0422804EF

VW-23751753
Steering Tie Rod Assembly

Front Right

7M0422804G

VW-23752753
Steering Tie Rod Assembly

Front Left

7M0422803G

VW-12751
Tie Rod End

Front Right
M14x1,5Rht

7M0422818B

VW-12752
Tie Rod End

Front Left
M14x1,5Rht

7M0422817B

VW-11755
Ball Joint

Front

YM213395BA

VW-16756
Suspension Control Arm

Front Right Lower

95VW3078AC

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 61 info@parsrot.com



VOLKSWAGEN

SHARAN (7M6,7M8,7M9) 1995-2010

VW-16757
Suspension Control Arm

Front Left

95VW3079AC

VW-14750
Stabilizer Link

Front
L=205mm

95VW5489AC

VW-20750K
Suspension Stabilizer Bar Link Kit

Front
V-750X2

95VW5489AC

FO-2097
Control Arm Bushing

Center

7M0501541

FO-2098
Control Arm Bushing

Front Right Lower Outer

7M0407181A

TIGUAN 1st Gen 2007-2016

VW-16168
Suspension Control Arm and Ball Joint

Assembly

Front Right Lower

3C0407152E

VW-16169
Suspension Control Arm and Ball Joint
Assembly

Front Left Lower

3C0407151E

VW-11656
Ball Joint

Front Left

3C0407365A

VW-11655
Ball Joint

Right

3C0407366A

VW-20872
Control Arm Bushing

Front Outer

561407152A

AU-20494
Control Arm Bushing

Front Left Inner

3C0199231D

AU-20487
Control Arm Bushing

Center

5Q0407182

VW-13553
Axial Joint

Front Inner
M16x1,5-L=310mm

1K0423810A

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 62 info@parsrot.com



VOLKSWAGEN

TIGUAN 1st Gen 2007-2016

AU-19558
Lateral Arm

Rear Upper

1K0505323N

SK-19457
Lateral Arm

Rear Lower
L=298mm

1K0501529J

VW-12552
Tie Rod End

Front Left
M16x1,5Rht

1K0423811K

VW-12551
Tie Rod End

Front Right
M16x1,5Rht

1K0423812K

VW-19228
Lateral Arm

Rear Lower

1K0505311AB

AU-19557
Lateral Arm

Rear Left Lower

3C0505223D

AU-19556
Lateral Arm

Rear Right Lower

3C0505224D

VW-16549
Suspension Control Arm and Ball Joint
Assembly

Front Right

3C0407151G

AU-19716
Lateral Arm

Rear Right Lower

3C0505224

AU-19717
Lateral Arm

Rear Left Lower

3C0505223

VW-16550
Suspension Control Arm and Ball Joint

Assembly

Front Left

3C0407151H

VW-16549N
Suspension Control Arm

Front

3C0407151E

VW-18540
Suspension Control Arm Repair Kit

Front
V-549-V-550/V-551-V-552/V-5532AD/V-

5572AD

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 63 info@parsrot.com



VOLKSWAGEN

TIGUAN AD 2016 after

VW-14580
Stabilizer Link

Rear
L=70mm

5Q0505465A

VW-19586
Lateral Arm

Rear Lower Front

5Q0501529C

VW-14557
Stabilizer Link

Front
L=335mm

1K0411315J

VW-12552
Tie Rod End

Front Left
M16x1,5Rht

1K0423811K

VW-19587
Lateral Arm

Rear Upper

5Q0505323D

AU-20487
Control Arm Bushing

Center

5Q0407182

VW-19677
Lateral Arm

Rear Lower

3Q0505311E

VW-16679
Suspension Control Arm and Ball Joint
Assembly

Front Left Lower

3Q0407153B

VW-16678
Suspension Control Arm and Ball Joint

Assembly

Front Right Lower

3Q0407154B

VW-13233
Axial Joint

Front Inner

561423810

VW-11584
Ball Joint

Front Right Lower

3C0407366B

TOUAREG ( 7LA,7L6,7L7 ) 2002-2010

AU-16169
Suspension Control Arm and Ball Joint

Assembly

Front Left Lower

7L0407151K

AU-16168
Suspension Control Arm and Ball Joint
Assembly

Front Right Lower

7L0407152K

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 64 info@parsrot.com



VOLKSWAGEN

TOUAREG ( 7LA,7L6,7L7 ) 2002-2010

AU-20859
Control Arm Bushing

Front Outer

7L8501529A

VW-16218
Suspension Control Arm and Ball Joint
Assembly

Front Right Lower

95534101832

VW-12212
Tie Rod End

Front Left
M16x1,5Rht

7L0422817D

VW-16219
Suspension Control Arm and Ball Joint
Assembly

Front Left Lower

95534101731

VW-14217
Stabilizer Link

Rear Left
L=201mm

95533307011

VW-14216
Stabilizer Link

Rear Right
L=201mm

95533307010

VW-19215
Lateral Arm

Rear Upper Front

7L0505323A

AU-20432
Control Arm Bushing

Front Upper

7L0407077

AU-20286
Control Arm Bushing

Rear

95534124204

AU-20285
Control Arm Bushing

Lower

95534158810

AU-20316
Control Arm Bushing

Center

7L0412333A

AU-19707
Lateral Arm

Rear Lower

7L8501529A

VW-13213
Axial Joint

Front
M16x1,5Rht-L=287,5mm

7L0422821

VW-23211213
Steering Tie Rod Assembly

Front Right

7L0422804C

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 65 info@parsrot.com



VOLKSWAGEN

TOUAREG ( 7LA,7L6,7L7 ) 2002-2010

VW-16210
Suspension Control Arm and Ball Joint

Assembly

Front Upper
Alum.

95534102701

VW-12211
Tie Rod End

Front Right
M16x1,5Rht

7L0422818D

VW-23212213
Steering Tie Rod Assembly

Front Left

7L0422803C

VW-14214
Stabilizer Link

Front
L=197mm

7L0411317

TOUAREG 7P 2010-2017

AU-16148
Suspension Control Arm and Ball Joint

Assembly

Front Right Lower

7P0407152E

AU-16149
Suspension Control Arm and Ball Joint
Assembly

Front Left Lower

7P0407151E

AU-201102
Control Arm Bushing

Front Lower Outer

7P0407152E

TOURAN ( 1T1,1T2 ) 2003-2010

VW-14557
Stabilizer Link

Front
L=335mm

1K0411315J

VW-14558
Stabilizer Link

Rear
L=95,5mm

1K0505465K

VW-20558K
Suspension Stabilizer Bar Link Kit

Rear
L=95,5mm

1K0505465KS1

AU-19558
Lateral Arm

Rear Upper

1K0505323N

VW-13553
Axial Joint

Front Inner
M16x1,5-L=310mm

1K0423810A

VW-12552
Tie Rod End

Front Left
M16x1,5Rht

1K0423811K

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 66 info@parsrot.com



VOLKSWAGEN

TOURAN ( 1T1,1T2 ) 2003-2010

VW-12551
Tie Rod End

Front Right
M16x1,5Rht

1K0423812K

VW-11555
Ball Joint

Front Right Lower

1K0407366E

VW-16560
Suspension Control Arm and Ball Joint

Assembly

Front Left Lower
Only:Petrol

1K0407151Q

VW-11556
Ball Joint

Front Left Lower

1K0407365E

VW-16559
Suspension Control Arm and Ball Joint

Assembly

Front Right Lower
Only:Petrol

1K0407152Q

VW-16562
Suspension Control Arm and Ball Joint
Assembly

Front Left Lower
Only:Diesel

1K0407151AC

VW-16559N
Suspension Control Arm

Front Right Lower
Only:Petrol

1K0407152Q

VW-16562N
Suspension Control Arm

Front Left Lower
Only:Diesel

1K0407151M

VW-16560N
Suspension Control Arm

Front Left Lower
Only:Petrol

1K0407151Q

AU-18152
Suspension Control Arm Repair Kit

Front
V-555/V-556-V-557-SB487/SB488/SB48
9

VW-19228
Lateral Arm

Rear Lower

1K0505311AB

AU-20487
Control Arm Bushing

Center

5Q0407182

AU-20488
Control Arm Bushing

Right

1K0199232H

AU-20489
Control Arm Bushing

Left

1K0199231H

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 67 info@parsrot.com



VOLKSWAGEN

TOURAN ( 1T3 ) 2010-2015

VW-19228
Lateral Arm

Rear Lower

1K0505311AB

VW-16562N
Suspension Control Arm

Front Left Lower
Only:Diesel

1K0407151M

VW-16562
Suspension Control Arm and Ball Joint

Assembly

Front Left Lower
Only:Diesel

1K0407151AC

VW-11556
Ball Joint

Front Left Lower

1K0407365E

VW-16561
Suspension Control Arm and Ball Joint

Assembly

Front Right Lower
Only:Diesel

1K0407152AC

VW-11555
Ball Joint

Front Right Lower

1K0407366E

VW-12551
Tie Rod End

Front Right
M16x1,5Rht

1K0423812K

VW-13553
Axial Joint

Front Inner
M16x1,5-L=310mm

1K0423810A

VW-19225
Lateral Arm

Rear Left Front

1T0505223F

VW-19587
Lateral Arm

Rear Upper

5Q0505323D

VW-19224
Lateral Arm

Rear Right Front

1T0505224F

VW-14557
Stabilizer Link

Front
L=335mm

1K0411315J

VW-16678
Suspension Control Arm and Ball Joint

Assembly

Front Right Lower

3Q0407154B

VW-16679
Suspension Control Arm and Ball Joint
Assembly

Front Left Lower

3Q0407153B

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 68 info@parsrot.com



VOLKSWAGEN

TRANSPORTER T3 1979-1992

VW-13606
Axial Joint

Front
M14x1,5-L=378mm

251419821

VW-23301606
Steering Tie Rod Assembly

Front

251419803A

VW-11599
Ball Joint

Front

211405371A

VW-11604
Ball Joint

Front Upper

251407361

VW-11605
Ball Joint

Front Lower

251407187B

VW-12301
Tie Rod End

Front
M14x1,5Rht

251419811

VW-20183
Control Arm Bushing

Center

701407087

VW-20178
Control Arm Bushing

Center

R251407183B

VW-20179
Control Arm Bushing

Upper

251407077B

VW-20180
Control Arm Bushing

Rear

VW-20559
Control Arm Bushing

Rear

251501131A

VW-20326
Control Arm Bushing

Front Inner

251407179

TRANSPORTER T4 1990-2003

VW-20573
Control Arm Bushing

Rear

701501131

VW-20181
Control Arm Bushing

Rear

7D0407140

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 69 info@parsrot.com



VOLKSWAGEN

TRANSPORTER T4 1990-2003

VW-20182
Control Arm Bushing

Front Inner

701407183

VW-20223
Control Arm Bushing

Upper Center

7D0407183

VW-20175
Control Arm Bushing

Center

701407077A

VW-14720
Stabilizer Link

Front
L=108mm

701411049B

VW-14710
Stabilizer Link

Front
L=110mm

7D0411049

VW-18600
Suspension Control Arm Repair Kit

Front
Ch.70-T-20000-->

VW-16504
Suspension Control Arm

Front Left
1990-1996

701407151A

VW-16503
Suspension Control Arm

Front Right
1990-1996

701407152A

VW-11725
Ball Joint

Front Lower

7D0407361

VW-11705
Ball Joint

Front Lower

701407361B

VW-11704
Ball Joint

Front

701407187B

VW-12722
Tie Rod End

Front Left Outer
Ch.No:70-T-200001-> 
M16x1,5Rht-D=Ø14,7mm

701419811E

VW-12721
Tie Rod End

Front Right Outer
Ch.No:70-T-200001-> 

M16x1,5Rht-D=Ø14,7mm

701419812D

VW-12712
Tie Rod End

Front Left Outer
Ch.No:70-M-096449-> 
M16x1,5Rht-D=Ø14,7mm

701419811B

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 70 info@parsrot.com



VOLKSWAGEN

TRANSPORTER T4 1990-2003

VW-12711
Tie Rod End

Front Right Outer
Ch.No:70-M-096449-> 

M16x1,5Rht-D=Ø14,7mm

701419812A

VW-12702
Tie Rod End

Front Left Outer
Ch.No:->70-M-096448 
M16x1,5Rht-D=Ø12,8mm

701419811A

VW-12701
Tie Rod End

Front Right
Ch.No:->70-M-096448 

M16x1,5Rht-D=Ø12,8mm

701419812

VW-23722706
Steering Tie Rod Assembly

Front Left
Ch.No:70-T-200001->

701419803D

VW-23722703
Steering Tie Rod Assembly

Front Left

701419803E

VW-23721706
Steering Tie Rod Assembly

Front Right
Ch.No:70-T-200001->

701419804D

VW-23721703
Steering Tie Rod Assembly

Front Right

701419804E

VW-23712706
Steering Tie Rod Assembly

Front Left
Ch.No:70-M-096449->

701419803C

VW-23711706
Steering Tie Rod Assembly

Front Right
Ch.No:70-M-096449->

701419804C

VW-23702706
Steering Tie Rod Assembly

Front Left
Ch.No:->70-M-096448

701419803A

VW-23702703
Steering Tie Rod Assembly

Front Left
Ch.No:->70-M-096448

701419803C

VW-23701706
Steering Tie Rod Assembly

Front Right
Ch.No:->70-M-096448

701419804A

VW-23701703
Steering Tie Rod Assembly

Front Right
Ch.No:->70-M-096448

701419812

VW-13706
Axial Joint

Front Inner
M16x1,5Rht-L=294.7mm

702419803D

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 71 info@parsrot.com



VOLKSWAGEN

TRANSPORTER T4 1990-2003

VW-13703
Axial Joint

Front Inner
M16x1,5-L=294mm

701419810

TRANSPORTER T5 2003-2011

VW-23731733
Steering Tie Rod Assembly

Front Right

7H0419804F

VW-13733
Axial Joint

Front
M16x1,5-L=175.5mm

7H0419804C

VW-23732733
Steering Tie Rod Assembly

Front Left

7H0419803F

VW-12731
Tie Rod End

Front Right
M16x1,5Rht

7H0422818C

VW-12732
Tie Rod End

Front Left
M16x1,5Rht

7H0422817C

VW-11735
Ball Joint

Front Lower
Ø22mm

7H0407361A

VW-11745K
Suspension Ball Joint Kit

Front Lower

7H8407361A

VW-16747
Suspension Control Arm

Front Right

7H0407152E

VW-16748
Suspension Control Arm

Front Left

7H0407151E

VW-18740
Suspension Control Arm Repair Kit

Front
V-747-V-748/V-731733-V-732733/V-735
2AD

VW-14730
Stabilizer Link

Front
L=260mm

7H5411317B

VW-11745
Ball Joint

Front
3200Kg

7H8407361A

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 72 info@parsrot.com



VOLKSWAGEN

TRANSPORTER T5 2003-2011

VW-14730A
Stabilizer Link

Front
HeavyDuty  L=260mm

7H5411317B

VW-20730
Control Arm Bushing

Front Inner

7H0407182

TRANSPORTER T5, facelift 2011-2016

VW-14730A
Stabilizer Link

Front
HeavyDuty  L=260mm

7H5411317B

VW-11745
Ball Joint

Front
3200Kg

7H8407361A

VW-14730
Stabilizer Link

Front
L=260mm

7H5411317B

VW-161008
Suspension Control Arm and Ball Joint
Assembly

Front Right Lower

7E0407152B

VW-161009
Suspension Control Arm and Ball Joint

Assembly

Front Left Lower

7E0407151C

VW-16818
Suspension Control Arm

Front Right Lower
formax3,2T

7E8407152B

VW-11735
Ball Joint

Front Lower
Ø22mm

7H0407361A

VW-12732
Tie Rod End

Front Left
M16x1,5Rht

7H0422817C

VW-12731
Tie Rod End

Front Right
M16x1,5Rht

7H0422818C

VW-23732733
Steering Tie Rod Assembly

Front Left

7H0419803F

VW-13733
Axial Joint

Front
M16x1,5-L=175.5mm

7H0419804C

VW-23731733
Steering Tie Rod Assembly

Front Right

7H0419804F

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 73 info@parsrot.com



VOLKSWAGEN

TRANSPORTER T5, facelift 2011-2016

VW-16819
Suspension Control Arm

Front Left Lower
formax3,2T

7E8407151B

VW-201048
Control Arm Bushing

Front Lower Inner

7E8407151A

VW-201047
Control Arm Bushing

Front

7E8407151A

TRANSPORTER T6 2016 after

VW-201047
Control Arm Bushing

Front

7E8407151A

VW-201048
Control Arm Bushing

Front Lower Inner

7E8407151A

VW-16819
Suspension Control Arm

Front Left Lower
formax3,2T

7E8407151B

VW-23731733
Steering Tie Rod Assembly

Front Right

7H0419804F

VW-13733
Axial Joint

Front
M16x1,5-L=175.5mm

7H0419804C

VW-23732733
Steering Tie Rod Assembly

Front Left

7H0419803F

VW-12731
Tie Rod End

Front Right
M16x1,5Rht

7H0422818C

VW-12732
Tie Rod End

Front Left
M16x1,5Rht

7H0422817C

VW-11735
Ball Joint

Front Lower
Ø22mm

7H0407361A

VW-16818
Suspension Control Arm

Front Right Lower
formax3,2T

7E8407152B

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 74 info@parsrot.com



VOLKSWAGEN

TRANSPORTER T6 2016 after

VW-14730
Stabilizer Link

Front
L=260mm

7H5411317B

VW-11745
Ball Joint

Front
3200Kg

7H8407361A

VW-14730A
Stabilizer Link

Front
HeavyDuty  L=260mm

7H5411317B

Up! 2011-2016

VW-16578
Suspension Control Arm and Ball Joint

Assembly

Front Right Lower

1S0407152

VW-12572
Tie Rod End

Front Left
M16x1,5Rht

1S0423811A

VW-12571
Tie Rod End

Front Right
M16x1,5Rht

1S0423812A

VW-13573
Axial Joint

Front
M14X1,5-L=306mm

1S0423810A

VW-16578N
Suspension Control Arm

Front Right Lower

1S0407152

VW-16579
Suspension Control Arm and Ball Joint
Assembly

Front Left Lower

1S0407151

VW-16579N
Suspension Control Arm

Front Left Lower

1S0407151

SK-14407
Stabilizer Link

Front
L=270mm

6Q0411315D

AU-2012
Control Arm Bushing

Front Right Lower Outer

1J0407181

SK-11425
Ball Joint

Front Left Lower

6R0407365

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 75 info@parsrot.com



VOLKSWAGEN

Up! 2011-2016

SK-11424
Ball Joint

Front Right Lower

6R0407366

VENTO MK3/A3 1991-1998

VW-11404
Ball Joint

Front
IBIZA

357407365A

VW-11530
Ball Joint

Front
(Withinforcement)IBIZA 
D=Ø19mmOnly:GTI

1H0407365

VW-16536
Suspension Control Arm and Ball Joint

Assembly

Front Left Lower
Only:GTI16V

1H0407151A

VW-16535
Suspension Control Arm and Ball Joint
Assembly

Front Right Lower
Only:GTI16V

1H0407152

VW-11404K
Suspension Ball Joint Kit

Front
IBIZA

357407365S1

VW-16535N
Suspension Control Arm

Front Right Lower
Only:GTI16V

1H0407152

VW-16536N
Suspension Control Arm

Front Left Lower
Only:GTI16V

1H0407151A

VW-14907
Stabilizer Link

Front
L=78mm-D=Ø18mm

6K0411315

VW-14510
Stabilizer Link

Front
IBIZA  L=69.5mm-D=Ø17.5mm

191411315B

VW-14511
Stabilizer Link

Front
Only:GTI  L=51mm

535411315

VW-23518
Steering Tie Rod Assembly

Front Left
ManualSteering

357419803A

VW-16525
Suspension Control Arm and Ball Joint
Assembly

Front Right Lower

1H0407152

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 76 info@parsrot.com



VOLKSWAGEN

VENTO MK3/A3 1991-1998

VW-16526
Suspension Control Arm and Ball Joint

Assembly

Front Left Lower

1H0407151

VW-16525N
Suspension Control Arm

Front

1H0407151

VW-13505
Axial Joint

Front
ManualSteering  M14x1,5Rht-L=397mm

1H0419821

VW-13506
Axial Joint

Front
PowerSteering  M14x1.5Rht-L=370mm

1H0422821

VW-23515
Steering Tie Rod Assembly

Front Right
PowerSteering

1H0422804

VW-23516
Steering Tie Rod Assembly

Front Left
PowerSteering

1H0422803

VW-23517
Steering Tie Rod Assembly

Front Right
ManualSteering

1H0419804

VW-12402
Tie Rod End

Front Left Outer
M14x1,5Rht

3A0422811

VW-12401
Tie Rod End

Front Right
M14x1,5Rht

3A0422812

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 77 info@parsrot.com




